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¥ HoIs el

H & 0l & AHS B Ml A

Gl MBMY D] & HDI2 XE 22l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A4 17,605,609 19,068,941 A1,453,332
= 665,250
== 263,301
[Ea 16,677,058
Hol= 22l 15,532,553 15,018,080 514,473
= 493,260
< 188,478
= 14,850,815
daMg)] & HoIE NE 2l 15,532,553 16,018,080 514,473
= 493,260
== 188,478
o 14,850,815
HEHDIZ 22 = 402,000 382,500 19,500
201 2= 42,000 50,000 28,000
01 AtR2t2lt] 42,000 50,000 28,000
OUEBEIIZ AEIH R
4002 *50,0000H 20,000
Olls2t+=H Xeldl 4,0002%3,000kg 12,000
OdZHII=Z 2cIiE EE2=
10,000,000& 10,000
203 =] 1,500 1,500
03 A=A =] 1,500 1,500
OHASE 2oxd 2t
1,500,000& 1,500
206 MH=Hl 358,500 331,000 27,500
01 MZH| 368,500 331,000 27,500
OXIl A#ASE HA 352,500
-4 182 %100,0000H 1,800
313 25 +1,000,0000H 25,000
YA 313 %600, 0000HK 18,600
1042 383 *500,0000H 19,000
2048 572,000, 0000K 114,000
048 1243 %400,0000K 49,600
54 1693 %500, 0000HK 84,500
PPELLH(30 ¢ B) 400:2 %100, 0000H 40,000
OsalSMdll =g 2
60,0002 * 10094 2 6,000
SESI Nx 2el 158,582 157,912 670
201 et 3| 64,382 63,712 670
01 AtR2te|Hl 42,000 42,000 0
oMl 282X & el 88 17,000
=t 15,0002 2000 =22l 6,000
-E2= 11,000,000 11,000
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Z3: HDI2 22
ol MBI W HDIZ XE 22 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgXIHIIZ HMel 100,000 x240& 24,000
OHJIZ RHSI| S Of2tets SAHI
8,0002 x5 »253] 1,000
02 S3=gHl 22,382 21,712 670
OMeD] SYSEI| e=5FHI(CCTV) AHUARS
= 100,000 #5CH* 122 6,000
OMD| BYSI| SEZHI(CTV) RS
2,000 #5801~ 12 1,392
ORI SYSI| S| 01T Ll 3,000
~EYSI| S8 CTV 0l
300,000 *5CH 1,500
-0l Mx| &I ALRYS
300,000 +5CH 1,500
OMJ| BYEI| SETH| RX22H)
110,000 *109CH 11,990
202 04| 11,200 11,200
1 =LA 11,200 11,200
OHAHME ALET o]
11,200,000 11,200
301 EtE NS 3,000 3,000
14 IIEt2 8= 3,000 3,000
Oy dxd=s 3,000,000& 3,000
401 AIEHIX SO 80,000 80,000
01 Al&H| 80,000 80,000
oMol S8 S| X cCTv(ols4)) £X
4,000,000 +20CH 80,000
HessS A2st 5,744 26,144 220,400
201 =3 4,544 11,144 6,600
01 At22t2l] 4,400 11,000 26,600
ONEsE d8+=HU M=
220,000& 207K 4,400
02 s5=34l 144 144 0
OZ¢eloteA &K=
6,000& 201 A+ 122 144
206 M=l 1,200 15,000 13,800
01 M=4l 1,200 15,000 213,800
OB01H =HY 60,0002 *20H 1,200
BAUEAIY 2 8,577,940 6,040,000 2,537,940
307 212t01& 8,577,940 6,000,000 2,577,940
05 2ItRIE = 8,577,940 6,000,000 2,577,940
OdgHDI=s &2 el 8,577,940
-tiedsl 8,569,940,000& 8,559,940
-t A2t 6,000,000 *37H 2= 18,000
HEHIIZ MelAld 2 4,811,208 5,910,106 1,008,898
01 Le+=EHI 36,157 36,093 64
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01 ArR2eltl 27,157 27,093 64
ORI HEZ At=2te] 7,080
N SE
137,800 *3I 2 *43| 1,654
—EUET HAL
1,356,410& 41 2+ 12| 5,426
OF HEZE At=2te] 12,731
—KIGt =EHHA
137,800 *3I A *43| 1,654
EES AN
337,700 11 2-*43| 1,351
-OHE It HAL 300,000 *4 1 2+ 12| 1,200
—EUQET HAL
1,366,410 *4 0 2~ *13] 5,426
-NHE =ZZA
350,000 * 171 #2323 700
-Xlet Eote HAH
200,000 *6 4 2 %23 2,400
O QI3 23 =ZH2A 4,346
Xsta SEBA
137,800 =11 %23 276
HES 2EAN
337,000& *1J1 2=+ 103 3,370
ME4 £EAA
350,000 * 11 2 *23| 700
OHOIEMS 28 22 RXIY|
3,000,000& 3,000
2 S=29| 9,000 9,000 0
ORMHEE AL 2l
3,000,000& 3,000
OFEE ML= 500,000& 123 6,000
202 Ot 3,840 3,840
01 =WO4 bl 3,840 3,840
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3,840,000& 3,840
206 M=4| 3,000 3,000
01 M=l 3,000 3,000
OFHEE 2 B2 H=HI
3,000,000& 3,000
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OA2tHEINE BEAIH
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190,697,000& 190,697
12 JIEtRE3 350,000 370,000 220,000
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= 12,000
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ZHHIE S dotd ExIAMY
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= 12,000
Ea 28,000
=EHEE s 8,200 8,200
201 fer=3| 8,200 8,200
01 AtR2tc|Hl 8,200 8,200
O=EAY HEZ2S FHSE A
3,000 4002 +62] 7,200
O=EAY HaZes g4+ 74
1,000,000 1,000
Y2 & AEz=a HE 30,000 20,000 10,000
207 ARl 30,000 20,000 10,000
01 Sl 30,000 20,000 10,000
OS4al2 2d9H & =ollHDI=S Xl dut
g2t 89 15,000,000& 15,000
ONEs AN +2 B
15,000,000 15,000
MEHIIZS =010 2E2S 76,568 70,820 5,748
201 er2 3| 68,568 38,820 29,748
01 At2teltl 68,568 38,820 29,748
OHlIZ MEs &N g2= &
3,000 *2,000H 6,000
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60,0002 x56CH« 12 40,320
OUEHDI= 2HE MN2N e ==
= 10,0002« 12 120
OUEHDII2 2HEHiE MEIA 0182
3,300,000 3,300
OdzmHIIZ 228 7Y
523,000 *36H 18,828
307 elztol & 8,000 8,000
02 LB HAHE L 8,000 8,000
odgMg I 01| dE2S
8,000,000& 8,000
HEHI =2 =E28 245,791 41,727 A175,936
101 @1A4H| 221,102 215,891 5,211
04 JIZtN2 2 XS E 221,102 215,891 5,211
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20 2,558, 1602 2 +6E 30,698
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11,0002« 128 132
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ZlEd U XIEr2 gAY 600 6.000 A5,400
EE HUXEE ZEA 600 6,000 A5,400
2EF OIUXIErE LA (XA 600 6,000 A5,400
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= 278,436
ASESSYA orE2tel 525,249 413,8%4 111,355
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[ 74,823
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Hu: AESMPR
Rl ABZESSEA M2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtEsAIel 222 MA
8,000,000& 8,000
= 2,960
Ea 5,040
307 @I2t0| & 24,000 0 24,000
== 8,880
o 15,120
02 LB HAHEE 24,000 0 24,000
OBESAIIR B43 X2
15,000,000 15,000
== 5,550
= 9,450
OstESANR AMRE X
9,000,000 9,000
=S 3,330
s 5,670
401 AIEHIZ R HYI 20,000 0 20,000
== 7,400
= 12,600
01 Al&H| 20,000 0 20,000
OBESAIZ 228 T2
10,000,000 10,000
= 3,700
Ea 6,300
OEESANHC EES UL
10,000,000& 10,000
< 3,700
[Ea 6,300
402 QI+ X201 & 63,000 0 63,000
= 23,310
o 39,690
02 QI A2 AL E R (0IHTHE) 63,000 0 63,000
OgESA A 2HEM% 27,000,000 27,000
= 9,990
o 17,010
OgEsAel SEX (ML)
36,000,000 36,000
< 13,320
= 22,680
HH2LZH(HAPIMD) 35,722 35,477 245
[=ZH(H A4 36,722 35,477 245
JI23Hl 35,722 36,477 245
201 et 3| 29,722 29,477 245
01 At22t2l] 27,953 27,708 245
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odit=3=H| 6,400,000& 6,400
O=gHl 7,296,000& 7,2%
O=AD| gitz 310,000 «2CH* 122 7,440
O3JIEEI| Xz
32,9003 1L =122 3%
O&8=J| gtz 50,900 »2CH =128 1,222
O#EIH 225 4| 5,200
-ZolZelH 4,400
e 440,000 x1CH x4 523 3,520
= 40,0002 *1CH+23] 880
-LBHIEIE 200,000 x2CH*23] 800
02 S3=gHl 1,769 1,769 0
O"gE &l |RAE=H| 1,590
-IIs AFRI1DI 1,300, 0002 x22CH*5% 1,430
-Zely 4,000,000 =2CH 2% 160
OREgs ME= 14,8503 104123 179
202 04t 2,400 2,400
01 =LHOHI 2,400 2,400
OHASIMT A2ET ol
2,400,000 2,400
203 =48] 3,600 3,600
M FA2HLRFEI 3,600 3,600
ORNSgE =TI 300,000 * 122 3,600
HRES (A4 1,016,347 390,692 625,655
WA XIE 1,016,347 390,692 625,655
SAEMYDINEE 2N = HES 388,003 390,692 A\2,689
RISdES 388,003 390,692 2,689
(UII=ESE—= 388,003 390,692 A2,689
OZgMYDINEE F2XNEI s &S
388,003,000 388,003
FENESEIANDES 628,344 0 628,344
701 JIEtRI HSHES 628,344 0 628,344
01 It AN ES 628,344 0 628,344
O=Zid Sl ME30IEER 33
HelAld "XIA) 628,344,000 628,344
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